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4) What the value of the memory location at address 9 after executing the code?
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5) What is the PC of the instruction executed after the “jalr x0, 200 (x0)?
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s value of register x5 after executing the code?
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Computer] and Computer2 use the exact same CPU. The types ol instructions supported by the CPU and their
respective clock per instruction (CPI) are given in the top table. When running ProgramX on both computers,
the numbers of instructions of each type are given in the bottom table. Which computer is faster when running
ProgramX and by how much?

Instruction Type A B C D E F
CPI 2 3 2 1 3

Instruction Type A B C D E F

ICi for Computerl 4 0 0 1
ICi for Computer2 0 0 4 1 2

e 2 OISR IN]

Computerl is 1.3333 times faster than Computer2

I No enough infoermation
® Computer] is | 6666 times faster than Computer2
Computer? is 1.66666 timas laster than Computer]
Computer2 is 11111 times faster than Computerl
Computer] is 1IN times faster than Computer2

Computer? is 1.3333 times faster than Computer]
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